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R xm |OE5| BB | gy | em | sk |seos | 2@ | o« | o | we | wA |
A gh | KE
18 12 11 2 1 0 7 4 9 16 1 2 2 67
2F 11 4 1 2 0 5 3 13 20 2 0 1 62
3H 8 3 0 0 0 6 0 11 29 2 1 1 61
4H 14 9 1 1 0 4 S 11 20 2 0 2 69
5H 10 11 0 0 0 3] 0 5 28 0 1 1 61
6H 14 17 3 1 0 6 2 6 27 3 2 1 82
18 20 12 0 3 0 8 1 14 20 5 0 1 84
8H 25 9 0 0 0 8 6 12 32 3 0 1 96
9RH 13 9 0 0 0 6 6 12 28 2 2 1 79
104 12 14 1 0 0 4 1 3 20 2 1 2 60
118 0
12H 0
&t 139 99 8 8 0 59 28 96 240 22 9 13 721
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BRI km |OE5) BB gy | em |k (sl | 2w | o | oE | we | wA |
A B | KE
18 1 0 0 1 0 1 4 1 14 1 0 0 23
2F 0 0 0 1 0 0 3 4 16 2 0 0 26
3H 0 1 0 0 0 0 0 2 22 2 0 0 2]
4H 0 0 0 0 0 0 4 2 19 2 0 0 27
5E 0 0 0 0 0 0 0 1 24 0 0 0 25
6H 0 2 0 0 0 0 2 3 21 3 0 0 31
18 0 1 0 1 0 0 1 4 17 S 0 0 29
8F 0 0 0 0 0 0 6 2 30 3 0 0 41
9R 0 0 0 0 0 0 5 3 19 2 0 0 29
1048 0 0 0 0 0 0 1 2 17 2 0 0 22
118 0
128 0
&t 1 4 0 3 0 1 26 24 199 22 0 0 280
G MBISSUTERE [
R km |OE5| 2B | gy | wm |k (ol | w0 | am | B | |
A B | KE
18 11 11 2 0 0 6 0 8 2 0 2 2 44
2F 11 4 1 1 0 S 0 9 4 0 0 1 36
3E 8 2 0 0 0 6 0 9 7 0 1 1 34
4K 14 9 1 1 0 4 1 9 1 0 0 2 42
5H 10 11 0 0 0 S 0 4 4 0 1 1 36
6H 14 15 3 1 0 6 0 3 6 0 2 1 91
1E 20 11 0 2 0 8 0 10 3 0 0 1 95
8E 25 9 0 0 0 8 0 10 2 0 0 1 95
9RH 13 9 0 0 0 6 1 9 9 0 2 1 50
108 12 14 1 0 0 4 0 1 3 0 1 2 38
115 0
128 0
& 138 95 8 5 0 98 2 12 41 0 9 13 441
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